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M600 =MA(CO 60)0

M1200 =MA(CO 120)0

CC70 =M60&gt]

M1200]

000 =L&gtD

REF(LO 1) AND H&lItO

REF(HO 1)0

0 0 O O CC7 AND REF(C&gtD

00 1) AND C&lt0]

O AND O O AND V&ItO

REF(VO 1)0

----------------------------- 00000000000000000000000.M60
0 =MA(CO 60)0

M1200 =MA(CO 120)0

CC70 =M60&gt]

M1200]

{0 0 0 }AA60 =REF(CO 1)&It0

REF(OL 1) AND (REF(O0 1)-REF(CO 1))/REF(CO 2)&gtD
0.020

BB6(] =O&It]

=REF(CO 1) AND C&gt[]

REF(OO 1)0
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0 0 O BDCO =MA(CO 5)&gt0]

REF(MA(CO 5)00 1) AND MA(CO 10)00

BBO =MA(CU 5)&gt]

MA(CO 10)0

A10 =BDC AND BBO

B0 ="OBV.OBV"[]

A20] =B&gtO

REF(HHV(BC 10)0 1)00

B20] ="MACD.DIF"0

B30 ="MACD.DEA"[]

A30 =B2&gt0]

0 AND B2&gt[]

B3 AND B2&gt[]

REF(B20 1)00

GS10 =A1 AND A2 AND A3 [

AGVO =(MA(VOLO 20)+MA(VOLD 40))/1.50
COMPARATIVELYO =(((10/FROMOPEN*VOL)&gt]
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=AGV*0.1))0

TOPO =CROSS(EMA(CO 60)0 EMA(CO 120))0

LOW10 =CROSS(EMA(CO 120)0 EMA(CO 60))0

MAXPO =MAX(CO 1)0

JISHO =IF(LOW1 AND BARSLAST(TOP) BARSLAST(TOP)O 1)0
MAXHHCO =IF(HHV(MAXPO JISH) AND LOW10 HHV(MAXPO JISH+80)0 1) O
REHHCO =REF(MAXHHCL BARSLAST(LOW1))OI

GS20 =COMPARATIVELY AND C&gt[]

=REHHC AND REF(CO 1)GS1 AND GS2[]

000 BDCO =MA(CO 5)&gt0]

REF(MA(CO 5)00 1) AND MA(CO 10)0

BBO =MA(CU 5)&gt0]

MA(CO 10)0

A10 =BDC AND BBO

B0 ="OBV.OBV"C]

A20] =B&gtO]

REF(HHV(BC 10)0 1)00

B20] ="MACD.DIF"0]

B30 ="MACD.DEA"[]

A30 =B2&gt[]

0 AND B2&gt[]

B3 AND B2&gt[]

REF(B20 1)00

GS10 =A1 AND A2 AND A3 [

AGVO =(MA(VOLO 20)+MA(VOLD 40))/1.50
COMPARATIVELYO =(((10/FROMOPEN*VOL)&gt[]
=AGV*0.1))0

TOPO =CROSS(EMA(CO 60) EMA(CO 120))0

LOW10 =CROSS(EMA(CO 120)0 EMA(CO 60))0

MAXPO =MAX(CO 1)0

JISHO =IF(LOW1 AND BARSLAST(TOP)] BARSLAST(TOP)( 1)[
MAXHHCO =IF(HHV(MAXPO JISH) AND LOW10 HHV(MAXPO JISH+80)0 1) O
REHHCO =REF(MAXHHCL BARSLAST(LOW1))OI

GS20 =COMPARATIVELY AND C&gt]

=REHHC AND REF(CO 1) GS1 OR GS2[J
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